
MATHS

BOOKS - TARGET MATHS (HINGLISH)

MHT-CET 2019 QUESTION PAPER

Trignometric Functions

1. If , then 

A. 3

B. 4

C. 1

cos θ + secθ = 2 sec2 θ − sin2 θ =

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_jYYaVEIbRv8u


D. 2

Answer: C

Watch Video Solution

2. The number of values of x in the interval 

satisfying the equation  is

A. 0

B. 2

C. 6

D. 4

[0, 5π]

3 sin2 x − 7 sinx + 2 = 0

https://dl.doubtnut.com/l/_jYYaVEIbRv8u
https://dl.doubtnut.com/l/_D93ug6n6KGws


Answer: C

Watch Video Solution

3. If  and 

, then (A,B)=

A. 

B. (0,2)

C. 

D. (0,-2)

Answer: C

Watch Video Solution

≤ x ≤ 1
1

√2

sin− 1(2x√1 − x2) = A + B sin− 1 x

(π, 2)

(π, − 2)

https://dl.doubtnut.com/l/_D93ug6n6KGws
https://dl.doubtnut.com/l/_awY4lcyTCRGx


4. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cot x = − √3

nπ ± , n ∈ Z
π

6

2nπ ± , n ∈ Z
π

6

nπ + , n ∈ Z
π

6

nπ + , n ∈ Z
5π

6

https://dl.doubtnut.com/l/_awY4lcyTCRGx
https://dl.doubtnut.com/l/_ifXkjfjwpx7F


Trignometric Functions Of Compound Angles

5. In , with usual notations b=2c and B=3C,

then sinA=

A. 

B. 1

C. 

D. 

Answer: A

Watch Video Solution

△ ABC

√3

2

1

2

1

√2

https://dl.doubtnut.com/l/_VfkDhU6DWxvz
https://dl.doubtnut.com/l/_51Vi6PfawKsI


Straight Lines

1. If , then (1+tanA)(1-tanB)=

A. 4

B. 3

C. 1

D. 2

Answer: D

Watch Video Solution

A − B =
π

4

https://dl.doubtnut.com/l/_51Vi6PfawKsI


Circles And Conics

1. If A(5,8),B(-3,4) and C(7,k) are vertices of  and 

, then k=

A. 16

B. 

C. 

D. 12

Answer: C

Watch Video Solution

△ ABC

m∠B = 90∘

−12

−16

https://dl.doubtnut.com/l/_3htWVHaCQ7Nq
https://dl.doubtnut.com/l/_P7ga5XBu4YtC


1. The cordinate of point P is 8. If P lies on the parabola

, then its focal distance is

A. 16

B. 32

C. 8

D. 4

Answer: C

Watch Video Solution

y2 = 16x

2. The focai of the conjugate hyperbola of the

hypberbola  are− = 1
x2

144

y2

25

https://dl.doubtnut.com/l/_P7ga5XBu4YtC
https://dl.doubtnut.com/l/_t5gVtFQ3123v


Sets Relations And Functions

A. (5,0), (-5,0)

B. (13,0),(-13,0)

C. (0,12),(0,-12)

D. (0,13),(0,-13)

Answer: D

Watch Video Solution

1. Which of the following is an evan function?

A. f(x) = 3 cos x + 4

https://dl.doubtnut.com/l/_t5gVtFQ3123v
https://dl.doubtnut.com/l/_uvU8JiIGHodI


B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = 2 sinx + 3

f(x) = x2 + x

f(x) = x2 sinx

2. The domain of the function

 is

A. 

B. 

C. 

f(x) = √sinx + √16 − x2

[ − 4, 0) ∪ (0, π]

( − 4, 4)

[ − 4, π] ∪ [0, π]

https://dl.doubtnut.com/l/_uvU8JiIGHodI
https://dl.doubtnut.com/l/_HTPl1UG8NkhL


Sequence And Series

D. 

Answer: C

Watch Video Solution

[ − 4, π]

1. If  then minimum value of 

 is

A. 10

B. 6

C. 4

x > 0, y > 0

(x + y)( + )
1

x

1

y

https://dl.doubtnut.com/l/_HTPl1UG8NkhL
https://dl.doubtnut.com/l/_7QlzOU6WC2or


D. 8

Answer: C

Watch Video Solution

2. If , then 

A. e+2

B. e-2

C. e+1

D. e-1

Answer: B

tn =
1

(n + 1) !

∞

∑
n= 1

tn =

https://dl.doubtnut.com/l/_7QlzOU6WC2or
https://dl.doubtnut.com/l/_XxlF1NkTzTBD


Probability

Watch Video Solution

1. A room contains 3 sockets for bulbs. If from a

collection of 10 bulbs, out of which 6 are defective, 3

bulbs are selected at random and put in the sockets,

then the probability that the room is lighted is

A. 

B. 

C. 

D. 

3

5

1

5

5

6

1

6

https://dl.doubtnut.com/l/_XxlF1NkTzTBD
https://dl.doubtnut.com/l/_rVTBc3hPI0fF


Answer: C

Watch Video Solution

2. The negative of the statement "some equations have

real roots" is

A. All equations do not have real roots

B. All equations have real roots

C. Some equations do not have real roots

D. Some equations have rational roots

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_rVTBc3hPI0fF
https://dl.doubtnut.com/l/_AeUWDhmKqaSC


3. If truth values of p,  are F, T, F

respectively, then respective truth values of q and r

A. F,T

B. T,T

C. F,F

D. T,F

Answer: D

Watch Video Solution

p ⇒ r, q ⇒ p

https://dl.doubtnut.com/l/_AeUWDhmKqaSC
https://dl.doubtnut.com/l/_41ygzbnsXAeD


4. If p: Rahul is physically disable, q: Rahul stood first in

the class, then the statement "In spite of physical

disability Rahul stood first in the class in symbolic form

is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

p ∧ q

p ∨ q

~p ∨ q

p → q

https://dl.doubtnut.com/l/_vnimqYccRyMk


Matrixes

1. For a invertible matrix  if 

then 

A. 10

B. 100

C. 20

D. 0

Answer: A

Watch Video Solution

A A(adjA) = [
10 0

0 10
]

|A| =

https://dl.doubtnut.com/l/_yVMTJedlv7zV


Pair Of Straight Lines

2. If the inverse of  does not exist, then

x=

A. 

B. 0

C. 2

D. 3

Answer: A

Watch Video Solution

⎡
⎢
⎣

1 2 x

4 −1 7

2 4 −6

⎤
⎥
⎦

−3

https://dl.doubtnut.com/l/_fgmBDpyuihFD


1. The measure of the angle between the lines 

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(sin2 θ − 1)x2 − 2xy cos2 θ + y2 cos2 θ = 0

π

2

π

6

π

4

π

3

2. If  and  are slopes of line represented 

 , then 

m1 m2

2x2 − 3xy + y2 = 0 (m1)3 + (m2)3 =

https://dl.doubtnut.com/l/_zQbqlFfyb8v1
https://dl.doubtnut.com/l/_7DUkQf2fOwUK


Vectors

A. 1

B. 9

C. 3

D. 27

Answer: B

Watch Video Solution

1. If

A ≡ (3, x, 1), B ≡ (y, − 2, 2), C ≡ (2x, 2y, − 3)

https://dl.doubtnut.com/l/_7DUkQf2fOwUK
https://dl.doubtnut.com/l/_qn6oXD8ahKkO


are the vectors of  and  is its

centroid, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

△ ABC G ≡ (2, 1, 0)

x = − , y = −
1

3
7
3

x = , y =
7
3

1

3

x = , y =
1

3
7
3

x = , y =
5

3
4
3

2. lf  are coplanar unit vectors, then 
ā, b̄, c̄

[2ā − b̄, 2b̄ − c̄, 2c̄ − ā] =

https://dl.doubtnut.com/l/_qn6oXD8ahKkO
https://dl.doubtnut.com/l/_yeJRoDG4QYoD


A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

√3

−√3

3. Let  be distinct non-negative numbers. If

vectos  are

coplanar, then c is

A. A.M. of a and b

a, b and c

aî + aĵ + ck̂, î + k̂ and cî + cĵ + bk̂

https://dl.doubtnut.com/l/_yeJRoDG4QYoD
https://dl.doubtnut.com/l/_rJkly9wobm36


B. G.M of a and b

C. Sum of a and b

D. H.M. of a and b

Answer: B

Watch Video Solution

4. The vector equation of the plance passing through

the point  and parallel to vectors

 is

A. 

B. 

( − 1, 2, − 5)

4 î − ĵ + 3k̂ and î + ĵ − k̂

r̄. ( − 2 î + 7ĵ + 5k̂) = − 9

r̄. (2 î + 7ĵ + 5k̂) = − 13

https://dl.doubtnut.com/l/_rJkly9wobm36
https://dl.doubtnut.com/l/_Qhn1z8cb1RaR


C. 

D. 

Answer: A

Watch Video Solution

r̄. (2 î − 7ĵ + 5k̂) = 9

r̄. (2 î − 7ĵ − 5k̂) = − 9

5. If Z=2x + y subject to

, then the

maximum value of Z is

A. 18

B. 10

C. 6

x ≤ 4, y ≤ 6, x + y ≥ 6, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_Qhn1z8cb1RaR
https://dl.doubtnut.com/l/_tvwj7Q70aQBY


Three Dimensional Geometry

D. 14

Answer: D

Watch Video Solution

1. If a line in the space passes through the points

 and  then its direction consines

are proportional to

A. 

B. 

(x1, y1, z1) (x2, y2, z2)

x1x2, y1y2, z1, z2

x2
1 − x2

2, y2
1 − y2

2 , z2
1 − z2

2

https://dl.doubtnut.com/l/_tvwj7Q70aQBY
https://dl.doubtnut.com/l/_xX40aqNMe9uI


Line

C. 

D. 

Answer: D

Watch Video Solution

x1 + x2, y1 + y2, z1 + z2

x1 − x2, y1 − y2, z1 − z2

1. The cartesian equation of the line

 is

A. x=1, y=z

B. 

r̄ = ( î + ĵ + k̂) + λ(ĵ + k̂)

= =
x − 1

1

y − 1

2

z − 1

2

https://dl.doubtnut.com/l/_xX40aqNMe9uI
https://dl.doubtnut.com/l/_Wr8cy2okDzgV


Plane

C. x=y=z

D. x-1=y=z

Answer: A

Watch Video Solution

1. The XZ plane divides the line segment joining the

points (3,2,b) and (a,-4,3) in the ratio

A. 

B. 

1: 2

2: 3

https://dl.doubtnut.com/l/_Wr8cy2okDzgV
https://dl.doubtnut.com/l/_RlJbrTft7lkN


Linear Programming

C. 

D. 

Answer: A

Watch Video Solution

3: 1

4: 3

1. The objective function Z=6x +2y is subject to

. The

miniumum value of Z occurs at

A. (0,2)

5x + 9y ≤ 90, x + y ≥ 4, y ≤ 8, x, y ≥ 0

https://dl.doubtnut.com/l/_RlJbrTft7lkN
https://dl.doubtnut.com/l/_kttB15vELdBP


Continuity

B. (0,4)

C. (4,0)

D. (18,0)

Answer: B

Watch Video Solution

1. In order that the function  is

continuous at x=0 , the value of f(0) must be defined as

:

f(x) = (x + 1)cot x

https://dl.doubtnut.com/l/_kttB15vELdBP
https://dl.doubtnut.com/l/_nohTvws2VX21


A. 

B. 

C. e

D. 

Answer: C

Watch Video Solution

1

e

1

e2

1

e2

2. If f(x) is continuous at x=a, where

, for , then f(a)=

A. 

B. 

f(x) =
√x − √a + √x − a

√x2 − a2
x ≠ a

1

√2a

1

2√a

https://dl.doubtnut.com/l/_nohTvws2VX21
https://dl.doubtnut.com/l/_Va7gIIwSlUFe


Differentiation

C. 

D. 

Answer: A

Watch Video Solution

1

2a

2√a

1. Examine the differentiability of f, where f is defined by

 at .

A. does not exist

B. 3

f(x) = {
1 + x if x ≤ 2

5 − x if x > 2
x = 2

https://dl.doubtnut.com/l/_Va7gIIwSlUFe
https://dl.doubtnut.com/l/_oG92XXWonzRp


C. 

D. 1

Answer: A

Watch Video Solution

−1

2. If

A. 

B. 0

C. 

D. 

y = cosec− 1( ) + cos − 1( ), then =
x2 + 1

x2 − 1

x2 − 1

x2 + 1

dy

dx

−
2

√x4 − 1

+
2

√x4 − 1

2

√x4 + 1
2

√x4 + 1

https://dl.doubtnut.com/l/_oG92XXWonzRp
https://dl.doubtnut.com/l/_RcM80jmQmZGI


Answer: B

Watch Video Solution

3. If 

A. 

B. 1 + log t

C. 

D. 

Answer: D

Watch Video Solution

x = t log t, y = tt, then =
dy

dx

et

et

1 + log t

ex

https://dl.doubtnut.com/l/_RcM80jmQmZGI
https://dl.doubtnut.com/l/_En5Tysz5cCBe


Application Of Derivatives

1. If  has maximum value at x=a, then a=

A. -1

B. -3

C. 1

D. 3

Answer: C

Watch Video Solution

f(x) = x3 − 3x

https://dl.doubtnut.com/l/_MYqkHp1WLm56


2. If Rolle's theorem holds for the function

 for , then a+4b=

A. 13

B. 

C. 

D. 26

Answer: C

Watch Video Solution

f(x) = x3 + bx2 + ax − 6 x ∈ [1, 3]

−26

−13

3. Equation of the horizonatl tangent to the curve

 isy = ex + e−x

https://dl.doubtnut.com/l/_AxG79EEjIQDL
https://dl.doubtnut.com/l/_m8j8acUElET2


Integration

A. y=-1

B. y=1

C. 

D. y=2

Answer: D

Watch Video Solution

y = − 2

1. If , then 4a+3b=

A. 

∫ dx = a sin− 1(bx) + c
1

√9 − 16x2

−12

https://dl.doubtnut.com/l/_m8j8acUElET2
https://dl.doubtnut.com/l/_Vvk7CItiKAaV


B. 5

C. 

D. 25

Answer: B

Watch Video Solution

−17

2.  dx=

A. 

B. 

C. 

∫
1

3 + 2 cos2 x

tan− 1( ) + c
1

15

√3 tanx

√5

tan− 1( ) + c
1

√6

√2 cos x

√3

tan− 1( ) + c
1

√15

√5 tanx

√3

https://dl.doubtnut.com/l/_Vvk7CItiKAaV
https://dl.doubtnut.com/l/_EQua6gskmlSM


D. 

Answer: A

Watch Video Solution

− tan− 1( ) + c
1

√15

3 tanx

5

3. If , then f(x)=

A. 

B. 

C. 

D. 

Answer: B

∫x2e3xdx = f(x) + c
e3x

27

9x2 + 6x + 2

9x2 − 6x + 2

9x2 + 6x + 2

9x2 − 6x − 2

https://dl.doubtnut.com/l/_EQua6gskmlSM
https://dl.doubtnut.com/l/_FCdTaJQDKWSv


Definite Integrals

Watch Video Solution

1. 

A. log 4

B. log 2

C. log 3

D. log 5

Answer: A

Watch Video Solution

∫
1

0
dx =

1

x + √x

https://dl.doubtnut.com/l/_FCdTaJQDKWSv
https://dl.doubtnut.com/l/_gwcVXsvRntwR


Applications Of Definite Integral

2. 

A. 

B. 

C. 

D. 0

Answer: D

Watch Video Solution

∫
−

log( )dx =

π

4

π

4

2 − sinx

2 + sinx

π

8

π

2

π

4

https://dl.doubtnut.com/l/_DYIjHwNQ8TXV


Differential Equations

1. The area of the region bounded by parabola

 and its locus rectum is ____________

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 16x

256

3

128

3

16

3

64
3

https://dl.doubtnut.com/l/_YM482XIQCJXt
https://dl.doubtnut.com/l/_5XQ5SIBlgj8B


1. The solution of  when y(1) =2, is

A. 2x-y =0

B. 

C. 3x + 2y -7=0

D. 3x - 2y +1=0

Answer: D

Watch Video Solution

=
dy

dx

y + 1

x + 1

x2 + y2 = 5

2. The rate of increase in the number of bacteria in a

certain bacteria culture is proportional to the number

https://dl.doubtnut.com/l/_5XQ5SIBlgj8B
https://dl.doubtnut.com/l/_6dmjz2Wzz8Fr


present. If in 5 hrs the number triples, then in 10 hrs,

the number of bacteria present is

A. 18 times the original

B. 12 times the original

C. 6 times the original

D. 9 times the original

Answer: D

Watch Video Solution

3. The order of the differential equation of all

rectangular hyperbola is

https://dl.doubtnut.com/l/_6dmjz2Wzz8Fr
https://dl.doubtnut.com/l/_kTBnnznKXvxt


Probability Distribution

A. two

B. four

C. one

D. three

Answer: C

View Text Solution

1. The p.d.f. of a r.v. X is , then k

=

f(x) = {
kx,0 < x < 2

0, otherwise

https://dl.doubtnut.com/l/_kTBnnznKXvxt
https://dl.doubtnut.com/l/_NlF6lOP1XLUH


Binomial Distribution

A. 2

B. 

C. 0

D. 1

Answer: B

Watch Video Solution

1

2

1. If in a certain experiment the probability of success in

each trial is  times the probability of failure, then the

probability of at least one success in 5 trials is

3

4

https://dl.doubtnut.com/l/_NlF6lOP1XLUH
https://dl.doubtnut.com/l/_LRUQ5x9ySrlt


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1 − ( )
5

3

7

( )
53

7

( )
5

4

5

1 − ( )
5

4
7

https://dl.doubtnut.com/l/_LRUQ5x9ySrlt

